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Which digit 1s repeated twice?

IBPS CLERKS PRELIMS

MOCK TEST

Countinued from December 7th

Directions: In the question below are given

83.

three statements followed by two

conclusions numbered I and II. You have

to take the given statements to be true
even if they seem to be at variance with
commonly known facts. Read all the
statements and then decide which of the
given conclusions logically follow(s)
from the given statements, disregarding
commonly known facts.

Statements:

All boys are lazy.

Some cats are boys.

No wolf is lazy.

Conclusions:

I. Some cats are lazy.

II. A boy being wolf is a possibility.
1. Only I follows.

2. Only II follows.

3. Either I or II follows.

4. Neither I nor II follows.

5. Both I and II follow.

Directions: Study the following information

84.

8S.

86.

87.

88.

89.

90.

carefully and answer the question.
Chair-1, Chair-2, Chair-3, Chair-4,
Chair-5, Chair-6, Chair-7 and Chair-8
are kept around a circular table with
equal distance between them, but not
necessarily in the same order. Four of
them are facing the centre, while the rest
face outside (i.e. opposite to the centre).
Chair-2 1s placed immediately next to
Chair-5, but not of Chair-3. Only one
chair is kept between Chair-3 and Chair-
5. Chair-6 1s kept second to the right of
Chair-5. Chair-4 faces Chair-8. Chair-2
does not face outside. Chair-8 is kept
third to the right of Chair-6, which faces
outside. Two chairs are kept between
Chair-2 and Chair-1.

Which of the following is opposite to
Chair-6?

1. Chair-1 2. Chair-4
3. Chair-3 4. Chair-7

5. Cannot be determined.

Which of the following is third to the
right of Chair-7?

1. Chair-5 2. Chair-2

3. Chair-6 4. Chair-1

5. None of the above
Which of the following is opposite to

the one which is second to the right of
Chair-4?

1. Chair-2 2. Chair-6
3. Chair-8 4. Chair-7 5. Chair-3
Which of the following is opposite to

the one which is second to the right of
Chair-4?

1. Chair-2 2. Chair-6
3. Chair-8 4. Chair-7 5. Chair-3
Which of the following is the odd one

out?

1. Chair-8 2. Chair-4

3. Chair-2 4. Chair-5 5. Chair-3
In the word PROJECTING, all the
vowels are first arranged
alphabetically and then, all the
consonants are arranged
alphabetically. Which of the following
letters will be fifth from the left?
1.C 2.N 3. 4.G

5. None of these

If 3 is added to each even digit in the
number 2742965 and 1 is subtracted
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from each odd digit in the number,
then which digit is repeated twice?
1.2 2.3 3.4 4.5 5.6

91.Directions: The following question is

based on the five words (not necessarily
be meaningful) given below.

RBN TQS NOM RLF BDI
(The new words formed after
performing the mentioned operations
may not necessarily be meaningful
English words.)
If in each of the given words (not
necessarily be meaningful), every
third letter is changed to its preceding
letter in the English alphabetical
series, then in how many words thus
formed will no vowels appear?
1. Four 2. Three
3. Two 4. One
5. None of these

92. Directions: The following question is

based on the five words (not necessarily
be meaningful) given below.

RBN TQS NOM RLF BDI
(The new words formed after
performing the mentioned operations
may not necessarily be meaningful
English words.)
If the positions of first and second
letters in each of the given words (not
necessarily be meaningful) are
interchanged, then how many words
would start from a vowel?
1. Zero 2. One 3. Two
4. Three 5. None of these

93. If the second letter of each word is

changed to its succeeding letter as per
the English alphabetical order, then
how many meaningful words can be
formed?

1.4 2.3 3.2 4.1

5. None of these

94. Directions: The following question is

based on the five words given below.

RBN TQS NOM RLF BDI
(The new words formed after
performing the mentioned operations
may not necessarily be meaningful
English words.)
After arranging the letters within the
words alphabetically from left to
right, if all the words are arranged
according to the dictionary, then
which of the following will be the last
letter of the word that comes in the
middle?
1. T 2.L 3.R 4.1
5. None of these

!‘-

r

95. Directions: The question below is

followed by two statements numbered I
and II. You have to decide whether the
data provided in the statements is
sufficient to answer the question.

How is 'sure' written in the code

language?

I. 'he 1s sure' 1s written as 'Ja ha ma' in
that code language.

II. 'is she sure' is written as 'ka ja ma' in
that code language.

1. The data in statement I alone is
sufficient to answer the question,
while the data in statement II alone is
not sufficient to answer the question.

2. The data in statement II alone is
sufficient to answer the question,
while the data in statement I alone is
not sufficient to answer the question.

3. The data either in statement I alone or
in statement II alone is sufficient to
answer the question.

4. The data given in both statements I
and II together is not sufficient to
answer the question.

5. The data in both statements I and II
together 1s necessary to answer the
question.

96. Directions: In this problem, a question

97.

is followed by two statements numbered

I and II. Read both the statements

carefully and decide which of them

is/are sufficient/necessary to answer the
question.

What is R's position from the left end

of the row?

I. M i1s tenth from the left end of the
row.II. There are sixteen children
between M and R.

1. Statement I alone is sufficient to
answer the question, while statement
IT alone 1s not sufficient to answer the
question.

2. Statement II alone is sufficient to
answer the question, while statement I
alone 1s not sufficient to answer the
question.

3. Either of the statements alone is
sufficient to answer the question.

4. Both statements I and II together are
not sufficient to answer the question.

5. Both statements I and II together are
necessary to answer the question.

Directions: The problem below contains

a question followed by two statements

marked I and II. Read the statements

carefully and decide which of them
is/are sufficient/required to answer the
question. Choose the correct option
accordingly.

How is J related to M?
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[. M has only one brother and two
sisters.

I1. J is the daughter of T, who is the wife of M.

1. Statement I alone is sufficient to
answer the question, but statement II
alone 1s not sufficient to answer the
question.

2. Statement II alone is sufficient to
answer the question, but statement I
alone 1s not sufficient to answer the
question.

3. Either statement I alone or statement
IT alone 1s sufficient to answer the
question.

4. Both statements I and II together are
not sufficient to answer the question.

5. Both statements I and II together are
necessary to answer the question.

Directions: Study the following

information and answer the given

question.

D, F, J, K, T, Vand Z are 7 members of

a family. None of the family members

has more than one child.

J 1s the grandfather of D.

V is the grandmother of T and is the

daughter-in-law of J.

F is the daughter-in-law of D.

K is the mother of T and Z is the father

of D.

How is D related to K?

1. Mother 2. Father 3. Husband
4. Wife 5. Brother
Directions: Study the following
information and answer the given
question.

D, F, J, K, T, Vand Z are 7 members of
a family. None of the family members
has more than one child.

J 1s the grandfather of D.

V is the grandmother of T and i1s the
daughter-in-law of J.

F is the daughter-in-law of D.

K is the mother of T and Z is the father
of D.

99. How is V related to D?

1. Sister 2. Mother-in-Law
3. Mother 4. Sister-in-Law
5. Daughter

100. How is V related to K?

1. Mother

2. Daughter-in-law

3. Sister-in-law

4. Mother-in-law

5. Cannot be determined
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